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53. x2 + x — 20; domain: all real
numbers

54. x? — x — 12; domain: all real
numbers.

55. 3 — 4 — 16x + 64; domain.
all eal numbers

56. x + 4; domain: all real numbers
exceptx = 4
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61. D(C(¥) = 0.5 — 0.5,
QD) = 0.5¢ — 1; use the coupon
after the store discount.
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[image: image8.png]77.y = 3VX =3 + 4 the graph of
¥ = 3V translated 3 units to the
right and 4 units up

78. y = ~6Vx — 4 the graph of
y = —6Vx translated 4 units to the
fight

79. y = 2¥x + 3; the graph of y = 2vx
translated 3 units to the left

80. y = 3Vx — 4 + 6; the graph of
¥ = $V& translated 4 units to the
right and 6 units up
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Algebra 2 Chapter 6 Review 


Answers








